ĐK: x
[image: image1.wmf]1

³


Nhận xét:
[image: image2.wmf]2

121016

xxx

-£-+

với mọi x
[image: image3.wmf]1

³


BPT
[image: image4.wmf](

)

(

)

222

30

12101621210696

x

xxxxxxxx

-£

ì

ï

Û

í

-+-+---+£-+

ï

î



 EMBED Equation.DSMT4  [image: image5.wmf](

)

(

)

(

)

22

3

3621210162

x

xxxxx

³

ì

ï

Û

í

-+£--+

ï

î


Giải (2):
[image: image6.wmf](

)

(

)

(

)

(

)

(

)

22

1

221210162121016

2

xxxxxx

Û-+-+£--+


Đặt 
[image: image7.wmf](

)

(

)

2

10

210160

xuu

xxvv

-=³

-+=³

Khi đó phương trình trở thành:
[image: image8.wmf](

)

2

2222

1

22440202

2

uvuvuuvvuvuv

+£Û-+£Û-£Û=


Suy ra:
[image: image9.wmf](

)

22

5()

4121016214200

2()

xTM

xxxxx

xL

=

é

-=-+Û-+=Û

ê

=

ë


Vậy tập nghiệm của BPT là T
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